
1. 1) m) gq;Flik tzpfk; /  jdpahu; Jiu tzpfk; / ,yh Nehf;Fs;s tzpfk; / rpw;wsT tzpfk;

(1 Gs;sp)

M) gyk;:- mDgtk; ngw;wtu;fs; fhzg;gLk;> Nju;r;rp ngw;w Copau;fs;> mUzh fzpdp

ghlnewpiaf; fw;wpUj;jy;. (½ Gs;sp)

tha;g;Gf;fs;:- FUehfiyapy; rpwg;Gr; re;ijapy; tzpfk; mike;jpUj;jy;> ehshe;jk;  ghupasT

kf;fspd; tUif (½ Gs;sp)

2) Vw;Wf;nfhs;fpd;Nwd; / Mk; / gjpT nra;ag;glNtz;Lk; (1 Gs;sp)

fhuzk;:- cupikahsupd; KOikahd ngaupyd;wp tzpfk; elhj;jg;gLtjdhy; (1 Gs;sp)

3) m) mD$yq;fs;:- jdpAupik mD$yq;fs; 2f;F (1 Gs;sp)

M) gpujp $yq;fs; :- jdpAupik gpujp$yq;fs; 2f;F (1 Gs;sp)

4) m) jpl;lkply;:- ,g;ghfKt efupy; Gjpa fpisnahd;iw Muk;gpf;fj; jpl;lkplyy; (1 Gs;sp)

M) rfy thbf;ifahsu;fSf;F tpirg;gyif jhq;fpnahd;iwg; ngw;Wf; nfhLj;jy;(1 Gs;sp)

5) nrhj;J = cupik +  nghWg;G

1265 000 = 1120 000 + 145 000 (2  Gs;sp)

my;yJ

xt;nthd;iwAk; jdpj;jdpahf vOjp tpilia vLj;jpUj;jYk; Gs;sp toq;fTk;.

6) m) &gh 1000 my;yJ  10/
1000

 x 120 000 x 1/
12

(1 Gs;sp)

M) tq;fp tl;b fzf;F tuT 1000

epYit tl;bf;fzf;F nryT 1000 (1 Gs;sp)

7)

rupahd fhR kPjp (,Wjp) ½ Gs;sp rupahd 3 cUg;gbfSf;F ½ g; Gs;sp tPjk; 1½ Gs;spfs;

8) m) jsghl cgfuzq;fs; 240 000

gOJ ghu;j;j; cgfuzk; 200 000 (1f;F 1 Gs;sp)

M) tq;fpf; fld; &gh 120 000 (1 Gs;sp)

tpzhg;gj;jpuk; - 2

tpzhg;gj;jpuk; - 1

tpilfs;
juk; : 11 ghlk;: tzpfKk; fzf;fPl;Lf; fy;tpAk;

tlNky; khfhzf; fy;tpj; jpizf;fsk; - ,uz;lhk; jtizg; guPl;ir 2018

(1x40= 40 Gs;spfs;)

11)
12)
13)
14)
15)

16)
17)
18)
19)
20)

26)
27)
28)
29)
30)

31)
32)
33)
34)
35)

1)
2)
3)
4)
5)

1
2
3
3
2

6)
7)
8)
9)
10)

21)
22)
23)
24)
25)

36)
37)
38)
39)
40)

jHdmdr yd .sKqïlrK wOHhkh

4
1
2
2
1

3
1
4
3
4

2
3
2
3
3

3
2
4
1
2

4
3
2
3
1

4
3
2
2
4

3
1
4
4
4

%yjdk;

tUkhdk;

fzpzp tpw;gid

200 000
500 000
400 000
500 000

1600 000

fzpzp nfhs;.

kpd;rhuk;

Copau; rk;gsk;

epWtd thlif

tpir. jhq;fp

kP.nr.

650 000
8 000

44 000
50 000
10 000

842 000
1600 000

njhq;fy; fzf;F



9)

(rupahd ,yhgj;jpw;F 1 Gs;sp Vida 4 cUg;gbfSf;F ½ Gs;sp tPjk; nkhj;jk; 1 Gs;sp)

10) &gh 1175 800 my;yJ  1120 000 + 55 800

tzpff; fy;tp

2. 1) m) kdpj Njit tpUg;gq;fis epiwT nra;af; $baJ. njhl;Lzuf; $ba ngsjpfj;

jd;ikAs;sit. nghUl;fs; vdg;gLk;

M) fy;tp> Rfhjhuk;> ghJfhg;G> Nghf;Ftuj;J> njhlu;ghly; (2f;F 1 Gs;sp)

2) m) cz;ik M) ngha; m) ngha; <) ngha; (1x4= 2 Gs;sp)

3) m) cupikahsu;> tptrhapfs; (toq;Feu;)> muR (1 Gs;sp)

M) epyk;> thio epyk; (1 Gs;sp)

4) m) nghUshjhur; #oy; (1 Gs;sp)

M) Fiwe;j tl;bapd; mbg;gilapy; rpw;wsT tzpfq;fSf;F fld; toq;fy; (1 Gs;sp)

(nkhj;jk; 8 Gs;sp)

3. 1) m) fhnrhiyapd; Kfg;gpy; ngau; Fwpg;gplg;gl;Ls;s egu; mg;ngaiu fhNrhiyapy; Fwpg;gplg;gl;Ls;s

thNw fhNrhiyapd; gpd;gf;fj;jpy; vOJjy; Gwf;Fwpg;gply; (1 Gs;sp)

M) nghUj;jkhd ,U ed;ikfSf;F (1 Gs;sp)

2) m) cz;ik M) cz;ik ,) ngha; <) ngha; (2 Gs;sp)

3) m) ,uz;L my;yJ mjw;F Nkw;gl;l ehLfSf;fpilapy; ,lk; ngWfpd;w tpahghuk; ntspehl;L

tpahghguk; vdg;gLk;. (1 Gs;sp)

M) Clfk; - Mfhatpkhdk; (1 Gs;sp)

mD$yfk; :- NtfkhdJ> rjp (,yu;fs; gOjilayhk;) (1 Gs;sp)

4) m) mDg;Ggtu;:- PLC epWtdj;jpd; Kfhikj;Jtg; gzpg;ghsu;.

ngWgtu;:- fpis Kfhikahsu; (½x2= 1 Gs;sp)
M) nghUj;jkhdJ vd tpiuthdJ vd> fpuak;> njspthdJ gad;gLj;Jjy; ,yFthdJ

( ½ x 2 = 1 Gs;sp)
4. 1) m) ,yf;Fr; re;ijia rupahf tpsf;fpapUe;jhy; (1 Gs;sp)

M) ePupopT Nehahsu;fs; (1 Gs;sp)

2) m) cz;ik M) ngha;> ,) cz;ik <) ngha; (½x4=2 Gs;sp)
3) A. tpiy B. cw;gj;jpg; nghUs; C. ,lk; D. Nkk;gLj;jy; (½x4=2 Gs;sp)
4) m) tzpfnkhd;wpd; Nehf;fj;ij jPu;khdpj;jy; kw;Wk; Nehf;fj;ij epiwNtw;Wtjw;F nghUj;jkhd

nraw;ghLfis  jPu;khdpg;gJ njhlu;ghd nrad;Kiw jpl;lkhFk;. (1 Gs;sp)

M) jpl;lkply;:- tu;j;j epiyaj;jpw;fhd jiyg;gpid jPu;khdpj;jy;

xOq;fikj;jy;:- FOf;fis epakpj;jYk;> nghWg;Gf;fis xg;gilj;jYk;

newpg;gLj;jy; :- tu;j;jf Mrpupau;fs; khztu;fSf;F MNyhriz toq;fy;

fl;Lg;gLj;jy; :- xt;nthU FOTk; cupathW nraw;gLfpd;wjh vd;gijj; Njbg;ghu;j;jy;

Kfhikj;Jtf; fUkq;fs; (1 Gs;sp)

fUkq;fSf;F nghUj;jkhdit (1 Gs;sp)

tUkhdk;

gOJ ghu;j;jy; tUkhdk;

fzpzp tpw;gid

fop.nryTfs;

fzpzp> njhNgrp nfhs;tdT

vQ;rpa ,Ug;G

kpd;rhuk;

Copau; rk;gsk;

epWtd thlif

rhtpg;gyif

tq;fpf; fld; tl;b

,yhgk;

400 000

500 000

735 000

8 000

40 000

50 000

10 000

1 200

900 000

844 200

55 800

650 000

85 000



fzf;fPL

5. 1) m) nrhj;J vd;gjw;fhd tpsf;fk; (1 Gs;sp)

M) Nkyjpf Kyjdkply;> gw;W tUkhdk; my;yJ nryT my;yJ ,yhgk; / el;lk; (1 Gs;sp)

2) 1. tUkhdk; my;yJ nryT my;yJ ,yhg el;lk;

gw;Wr; rp;l;L (½) fhRf; fzf;F tuT 2000

tpw;gidf; fzf;FnryT 2000 (1 Gs;sp)

2. mwtplKbahf; fldhf gjptopf;fg;gl;lJ&. 1000 (½)
nghJ ehl;Fwpg;NgL ½  = 1 Gs;sp

3) m)

M) Muk;g cupikahz;ik = 800 000 ½
,yhgk; =  10 000
nryTfs; = (4 000)
gw;W =(5 000)

cupikahz;ik (,Wjp kPjp = 801 000 ½ Gs;sp (4 Gs;sp)

1.

2.

3.

4.

5

500 000 = 500 000 + ---
fhR tq;fpf; fld;

(75 000) = -- + 10 000
,Ug;G (,yhgk;)

85 000
f.gl;Nlhu;

(4 000) = - + (4 000)
fhR nryT

90 000 = + 9 000
,Ug;G fld;nfhLeu;

(5 000) = -- (5 000)
fhR gw;W

nrhj;J =          nghWg;G +    cupik

(½ Gs;sp)

(½ Gs;sp)

(½ Gs;sp)

(½ Gs;sp)

(½ Gs;sp)

nfhL.th.

nfh/T fzf;fpy; tuT itf;fg;gl;lJ

15 750
8 200
5 400

29 350

nfhs;tdthsu;
nkhj;jg;

ngWkjp (&gh)

gl;bay;

,yf;fk;
jpfjp

01.05
01.15
01.28
01.31

0251

0252

0253

NgNul;L

gf;fk;

(1 Gs;sp)

(½)

tpw;gid ehl;Fwpg;G

`]d;

rhuq;fs;

fNzrd;

tpw;gidf; fzf;F

01.31 f.g. 29 350

`]d; fzf;F

01.15 tpw;gid 15 750

rhuq;fd; fzf;F

01.15 tpw;gid 8 200

fNzrd; fzf;F

01.28 tpw;gid 5 400

(4 Gs;sp)
NgJUfs; nghUj;jkhd mikg;gpy; tiuag;gly; Ntz;Lk;

(nkhj;jk; 12 Gs;sp)



nrk;ikahf;fpa fhNrL

kP.t.

Ne.It

f.thlif

t.fl;lzk;

kP.nr.

26 000

4 300

30 300

1 200

800

28 300

30 300

(½)

(½)
(½)

(½)

fhNrl;il jpUj;jpa gpd; kPjp

(+) rku;g;gpf;fg;glhj fhNrhiy

(-) jPu;itahf fhNrhiy

tq;fpf; $w;wpd; gb kPjp

7 000

10 000

28 300

7 000

35 300

(10000)

25 300

tq;fp ,zf;ff; $w;W

kPjp 8530

8530

fhg;GWjp

tpsk;guk;

1530
700

8530

njhq;fy; fzf;F

fhg;GWjpf; fl;lzf; fzf;F

njhq;fy; fzf;F

(Fiwj;Jg; gjpT nra;J fhg;GWjp)

fld;gl;. fzf;F tuT

tpw;gidf; fzf;F

(VLfspy; gjpag;glhj tpw;gid)

tpsk;gur; nryT

njhq;fy; fzf;F

(fzf;fpy; gjpag;glhj tpsk;guk;)

1530

8000

7000

tpguk;
tuT

&gh

1530

8000

7000

nryT

&gh
Ng.

g.

.

fr;.

,y

(1 Gs;sp)

(1 Gs;sp)

(1 Gs;sp)

(½)(½)

(½)
(½)

nghJ ehl;Fwpg;NgL

(½)

(½)

6. 1)

(4 Gs;sp)

(4 Gs;sp)

4) 1. nfhs;tdTg;gl;bay;> tpw;gidg; gl;bay; nghJf; Fwpg;Ngl;Lf; fr;rhj;J (2f;F 1 Gs;sp)

2. Nkhl;lhu; thfdf; fzf;F tuT 400 000

,e;jpuh fk;gdpf; fzf;F nryT 400 000

(1 Gs;sp)

(nkhj;jk; 12 Gs;sp)

7. 1) m) tpw;gidAk;> tpw;gidf; fpuaKk; (1 Gs;sp)

M) fpilf;f Ntz;ba tUkhdf; fzf;F tuT (1 Gs;sp)



2) rhfpu; tzpfk;

2017.12.31 y; Kbtile;j tUlj;jpw;fhd ,yhg el;lf; $w;W

(tUkhdf; $w;W)

tpw;gid

(-) tpw;gidf; fpuak;

Muk;g ,Ug;G

nfhs;tdT

cl;Rikf; $yp

tpw;gidf; fpuak;

(-) ,Wjp ,Ug;G

nkhj;j ,yhgk;

(-) nryTfs;

tpepNahfr; nryTfs;

tpsk;gur; nryT

mwtpl Kbahf; fld;

epu;thfr; nryTfs;

vOJ fUtpfs;

fl;llj; Nja;T

rk;gsk;

Nghf;Ftuj;J nryT

fhg;GWjp

epjpr; nryTfs;

tq;fpf; fld; tl;b

Njwpa ,yhgk;

300 000

142 000
158 000

5 000

99 000

10 000
44 000

(04 Gs;sp)

&gh &gh

10 000
140 000

7 000
157 000
(15000)

1 000
4 000

9 000
20 000
60 000

7 000
3 000

10 000

(½)

(½)

(½)

(½)

(½)

(½)

(½)

(½)

(nkhj;jk; 12 Gs;spfs;)

3) m) ml;LW vz;zpf;iff;F (1 Gs;sp)

M) ,yhg el;lf; $w;W / tUkhdf; $w;W
epjp epyikf; $w;W (1 Gs;sp)

(4 Gs;spfs;)

rhfpu; tzpfj;jpd;

2017.12.31y; cs;sthwhd epjp epyikf; $w;W

eilKiw my;yhj nrhj;Jf;fs;

fhzp

fl;;llk;

eilKiwr; nrhj;J

ruf;fpUg;G

fld;gl;Nlhu;

cupikahz;ikAk; nghWg;Gk;

%yjdk;

+ Njwpa ,yhgk;

e.K. my;yh nghUg;Gf;fs;

 tq;fpf; fld;

eilKiwg; nghWg;Gf;fs;

ml;LW Nghf;Ftuj;J

ml;LW fhg;GWjp

fld; nfhLeu;

ml;LW fld; tl;b

350 000
180 000
530 000

55 000
585 000

442 000

100 000

43 000

585 000

350 000
200 000 20 000

15 000
40 000

398 000
44 000

100 000

1 000
3 000

35 000
4 000

fpuak; jp.Nja;T Nj.ngWkjp

(½)

(½)

(½)
(½)

(½)


